BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

BIDDER'S NAME

1) LONGHORN EXCAVATORS, INC.

2) HARRIS CONSTRUCTION COMPANY, LLC

3) PERSONS SERVICES CORP

CONSTRUCTION OF THE REGIONAL STORAGE POND PHASE 3
SIENNA PARKS & LEVEE IMPROVEMENT DISTRICT OF FORT BEND COUNTY, TEXAS
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
NOVEMBER 1, 2024
LJA ENGINEERING, INC.
C CORTEZ
NOVEMBER 1, 2024
1501-2101 (9.2)

**TOTAL AMOUNT BID** 

\$11,839,690.20

\$12,101,021.00

\$12,190,518.79

CALENDAR DAYS 240/250

Tylewalk

I, TYLER VOLK, P.E., hereby certify these bid tabulations to be true and correct.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE REGIONAL STORAGE POND PHASE 3
SIENNA PARKS & LEVEE IMPROVEMENT DISTRICT OF FORT BEND COUNTY, TEXAS
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
NOVEMBER 1, 2024
LJA ENGINEERING, INC.

2) HARRIS CONSTRUCTION COMPANY, LLC

3) PERSONS SERVICES CORP

LJA ENGINEERING, C CORTEZ NOVEMBER 1, 2024 1501-2101 (9.2)

1) LONGHORN EXCAVATORS, INC.

				1) LONGHORN EXCAVA	LONGHORN EXCAVATORS, INC.		2) HARRIS CONSTRUCTION COMPANY, LLC		3) PERSONS SERVICES CORP	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
REGION	REGIONAL STORAGE ITEMS (SIENNA PARKS & LEVEE IMPROVEMENT DISTRICT)									
	ETHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR, PER GENE BAKER, 81 SURVEYING, 281.499.4539, COMPLETE IN PLACE	LS	1	\$30,528.00	\$30,528.00	\$28,800.00	\$28,800.00	\$28,800.00	\$28,800.00	
	CAVATION OF STORAGE PORTION OF REGIONAL STORAGE POND, COMPLETE PLACE	CY	291000	\$5.25	\$1,527,750.00	\$2.40	\$698,400.00	\$3.10	\$902,100.00	
TU PO US	CAVATION OF STORAGE PORTION OF REGIONAL STORAGE POND, USING THE ILLOCH RULE AS PER SPECIFICATION, EXCAVATION TO FULL DEPTH OF THE WIDD WITHIN THE TULLOCH RULE BOUNDARY ON SHEET 5A TO BE PERFORMED WING A BACK-HOE OR TRACK-HOE, NO EXCAVATED MATERIAL MAY BE OCKPILED WITHIN THE TULLOCH RULE BOUNDARY, COMPLETE IN PLACE	CY	290000	\$8.25	\$2,392,500.00	\$5.35	\$1,551,500.00	\$3.35	\$971,500.00	
HA PL MA CC	ULING, PLACEMENT AND COMPACTION OF EXCAVATION. SPOILS TO BE ULED USING ON-ROAD TRUCKS TO THE FILL SITE, 8.5 MILES ROUND TRIP, ACED AND COMPACTED TO 95% STANDARD PROCTOR DENSITY WITH IXIMUM 8" LIFTS, AS PER GEOTECHNICAL ENGINEER'S RECOMMENDATION, OMPLETE IN PLACE (CONTRACTOR TO HAUL ON SIENNA PARKWAY BETWEEN DURS OF 9:00 A.M. TO 3:00 P.M.)	CY	522000	\$8.79	\$4,588,380.00	\$12.95	\$6,759,900.00	\$15.57	\$8,127,540.00	
HA PC	ULING, PLACEMENT AND COMPACTION OF EXCAVATION, SPOILS TO BE ULED USING OFF-ROAD TRUCKS TO THE EXISTING REGIONAL STORAGE IND, WITHIN .5 MILES OF THE PROJECT, PLACED AND COMPACTED TO 95% ANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	CY	59000	\$2.10	\$123,900.00	\$3.00	\$177,000.00	\$2.82	\$166,380.00	
BE	NAL GRADING OF FILL AREAS, CHANNEL, HIGH BANK AND MAINTENANCE RMS TO FINISHED ELEVATIONS PER PLANS, INCLUDES ALL REQUIRED FILL, CAVATION AND HAULING, COMPLETE IN PLACE	LS	1	\$120,690.00	\$120,690.00	\$60,000.00	\$60,000.00	\$9,171.00	\$9,171.00	
	RAMAT 25 EROSION CONTROL MAT OR APPROVED EQUAL, INCLUDING NIMUM 3' BURY AT EDGES, COMPLETE IN PLACE	SY	1976	\$18.03	\$35,627.28	\$32.00	\$63,232.00	\$48.40	\$95,638.40	
8 RC	OCK FILTER DAM, TYPE 3, COMPLETE IN PLACE	EA	1	\$3,711.00	\$3,711.00	\$10,000.00	\$10,000.00	\$6,745.00	\$6,745.00	
9 CI	TY OF MISSOURI CITY (COMC) CONSTRUCTION PERMIT, COMPLETE IN PLACE	LS	1	\$98,643.90	\$98,643.90	\$115,000.00	\$115,000.00	\$11,492.00	\$11,492.00	
10 AN	Y REQUIRED FORT BEND COUNTY PERMITS, COMPLETE IN PLACE	LS	1	\$3,000.00	\$3,000.00	\$15,000.00	\$15,000.00	\$3,750.00	\$3,750.00	
EX	STORATION OF EXISTING HIGH BANKS OF REGIONAL STORAGE AREA TO ISTING CONDITIONS OR BETTER, INCLUDES GRADING, COMPACTION AND ALL HER NECESSARY METHODS FOR RESTORATION, COMPLETE IN PLACE	LS	1	\$69,900.00	\$69,900.00	\$50,000.00	\$50,000.00	\$26,409.00	\$26,409.00	
	MUCK TO 2 FOOT OF DEPTH, SCARIFY, AND PROOF ROLL EXISTING REGIONAL ORAGE POND BOTTOM TO PREP FOR FILL, COMPLETE IN PLACE	SY	85854	\$4.20	\$360,586.80	\$3.50	\$300,489.00	\$2.11	\$181,151.94	
RC FL	MPORARY TRAFFIC CONTROL FOR ENTRANCE AND EXIT ONTO ALL PUBLIC DADWAYS, INCLUDES ALL REQUIRED SIGNS, DELINEATORS, STEEL PLATES, AGMEN, AND FORT BEND COUNTY PERMITS INCLUDING REQUIRED BOND, DMPLETE IN PLACE	LS	1	\$333,690.00	\$333,690.00	\$75,000.00	\$75,000.00	\$56,210.59	\$56,210.59	
OF	TABLISHMENT OF PROPOSED REGIONAL STORAGE SWALE ALONG BOTTOM POND, INCLUDES EXCAVATION AND COMPACTION TO 95% STANDARD BOCTOR DENSITY, COMPLETE IN PLACE	LF	6210	\$6.00	\$37,260.00	\$4.50	\$27,945.00	\$6.95	\$43,159.50	
FC RE SF	EWATERING OF REGIONAL STORAGE BOTTOM AND SIDE SLOPES TO ALLOW OR EXCAVATION, MEASURED AT 200 FOOT SPACING OF ROWS, ADDITIONAL EQUIRED ROWS TO BE INCIDENTAL TO BID, AS PER DEWATERING TECHNICAL ECIFICATIONS (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE IGINEER), COMPLETE IN PLACE	LF	11400	\$31.80	\$362,520.00	\$46.50	\$530,100.00	\$4.51	\$51,414.00	

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE REGIONAL STORAGE POND PHASE 3 SIENNA PARKS & LEVEE IMPROVEMENT DISTRICT OF FORT BEND COUNTY, TEXAS CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS NOVEMBER 1, 2024 LJA ENGINEERING, INC.

2) HARRIS CONSTRUCTION COMPANY, LLC

3) PERSONS SERVICES CORP

C CORTEZ NOVEMBER 1, 2024 1501-2101 (9.2)

1) LONGHORN EXCAVATORS, INC.

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
FOR THE DI	OF EXCAVATION MATERIAL DURING TRANSPORT TO DISPOSAL SITE JRATION OF PROJECT, TO BE USED FOR DUST CONTROL NEAR ALL JFRASTRUCTURE, COMPLETE IN PLACE	WEEK	36	\$1,800.00	\$64,800.00	\$1,000.00	\$36,000.00	\$2,552.00	\$91,872.00
CONCRETE COMC DETA	BACKSLOPE INTERCEPTOR STRUCTURE, INCLUDING PIPE, SLOPE PAVEMENT, AND ALL OTHER APPURTENANCES, AS PER NIL MC-4-19, INCLUDES INSTALLATION AND MAINTENANCE OF INLET N BARRIERS AND TRENCH SAFETY, COMPLETE IN PLACE	EA	9	\$12,468.00	\$112,212.00	\$12,150.00	\$109,350.00	\$14,872.00	\$133,848.00
STORAGE F SLOPES, "V' HYDROMUL	BACKSLOPE DRAINAGE SWALE ALONG HIGH BANK OF REGIONAL OND PERIMETER, AS PER HORIZONTAL CONTROL SHEET 3:1 SIDE 'BOTTOM, INCLUDES EXCAVATION, HAULING, GRADING CH SEEDING PER SWMHCA SPECIFICATION NO. 4241 (TO BE USED RECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	5300	\$9.00	\$47,700.00	\$6.00	\$31,800.00	\$3.39	\$17,967.00
EXIT, SWMH	ON, MAINTENANCE AND REMOVAL OF STABILIZED CONSTRUCTION ICA SPECIFICATION NO. 4711 (TO BE USED ONLY AS DIRECTED BY EER), COMPLETE IN PLACE	EA	3	\$3,300.00	\$9,900.00	\$7,000.00	\$21,000.00	\$5,552.00	\$16,656.00
SLOPE PAV 4-19, INCLU	OR TO EXTEND EXISTING 24" C.G.M.P., INCLUDES PIPE, CONCRETE EMENT, AND ALL OTHER APPURTENANCES, AS PER COMC DETAIL MCDES INSTALLATION AND MAINTENANCE OF INLET PROTECTION AND TRENCH SAFETY, COMPLETE IN PLACE	EA	3	\$7,683.00	\$23,049.00	\$5,250.00	\$15,750.00	\$5,308.00	\$15,924.00
21 ORANGE CO IN PLACE	ONSTRUCTION FENCING AROUND PRESERVATION AREAS, COMPLETE	LF	4500	\$5.85	\$26,325.00	\$5.00	\$22,500.00	\$2.75	\$12,375.00
REGIONAL STORA	AGE ITEMS (SIENNA PARKS & LEVEE IMPROVEMENT DISTRICT) SUBTO				\$10,372,672.98		\$10,698,766.00		\$10,970,103.43
	BBING ITEMS (SIENNA PARKS & LEVEE IMPROVEMENT DISTRICT)								
ALL STUMPS BOUNDARY	AND GRUBBING OF HEAVILY WOODED AREA, INCLUDES REMOVING S AND ROOTS, CHIPPING AND HAULING OF DEBRIS OUTSIDE OF THE OF THE SIENNA PLANTATION DEVELOPMENT, (ONLY AREAS AS 3Y THE ENGINEER), COMPLETE IN PLACE	AC	2.25	\$11,802.00	\$26,554.50	\$11,950.00	\$26,887.50	\$14,989.00	\$33,725.25
ALL STUMP: DEBRIS, HA PLANTATIO BURN PITS	AND GRUBBING OF LIGHTLY WOODED AREA, INCLUDES REMOVING S AND ROOTS, EXCAVATION OF BURN PITS, BURNING OF CLEARING ULING OF ASHES OUTSIDE OF THE BOUNDARY OF THE SIENNA N DEVELOPMENT, CLEAN-OUT OF BURN PITS, AND BACKFILL OF TO 95% STANDARD PROCTOR DENSITY IN MAXIMUM 8" LIFTS, (ONLY DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	23.77	\$18,162.00	\$431,710.74	\$19,750.00	\$469,457.50	\$4,997.00	\$118,778.69
REMOVING CLEARING I SIENNA PLA OF BURN PI	AND GRUBBING OF LIGHTLY WOODED FILL AREA, INCLUDES ALL STUMPS AND ROOTS, EXCAVATION OF BURN PITS, BURNING OF DEBRIS, HAULING OF ASHES OUTSIDE OF THE BOUNDARY OF THE INTATION DEVELOPMENT, CLEAN-OUT OF BURN PITS, AND BACKFILL TS TO 95% STANDARD PROCTOR DENSITY IN MAXIMUM 8" LIFTS, AS AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	134.79	\$2,790.00	\$376,064.10	\$1,800.00	\$242,622.00	\$4,528.00	\$610,329.12
	OF EXISTING POND, INCLUDES REMOVING ALL STUMPS AND ROOTS REAS AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	17.74	\$2,262.00	\$40,127.88	\$1,200.00	\$21,288.00	\$445.00	\$7,894.30
SPECIFICAT HAULING O	AND GRUBBING OF HEAVILY WOODED AREA PER TULLOCH RULE FION, INCLUDES REMOVING ALL STUMPS AND ROOTS, CHIPPING AND F DEBRIS OUTSIDE OF THE BOUNDARY OF THE SIENNA PLANTATION ENT, (ONLY AREAS AS DIRECTED BY THE ENGINEER), COMPLETE IN	AC	24	\$24,690.00	\$592,560.00	\$26,750.00	\$642,000.00	\$18,737.00	\$449,688.00
CLEARING & GRU	BBING ITEMS (SIENNA PARKS & LEVEE IMPROVEMENT DISTRICT) SUB				\$1,467,017.22		\$1,402,255.00		\$1,220,415.36

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE REGIONAL STORAGE POND PHASE 3
SIENNA PARKS & LEVEE IMPROVEMENT DISTRICT OF FORT BEND COUNTY, TEXAS
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
NOVEMBER 1, 2024
LJA ENGINEERING, INC.
C. CORTEZ

2) HARRIS CONSTRUCTION COMPANY, LLC

3) PERSONS SERVICES CORP

C CORTEZ NOVEMBER 1, 2024 1501-2101 (9.2)

1) LONGHORN EXCAVATORS, INC.

				1) LONGHORN EXCAVATORO, INC.		2) HANNIO CONSTRUCTION COM ANT, LLC		3) I ENGONG SERVICES COM	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MISCELLANEOUS I	TEMS								
	DEDUCT FOR VARIANCE REQUESTS SUBMITTED BY THE ENGINEER OF THE CONTRACTOR, (AS DIRECTED BY THE ENGINEER), N PLACE	EA	0	-\$1,000.00	\$0.00	-\$1,000.00	\$0.00	-\$1,000.00	\$0.00
2 STANDARD D COMPLETE IN	DEDUCT FOR STREET CLEANING (AS DIRECTED BY THE OWNER), N PLACE	HR	0	-\$125.00	\$0.00	-\$125.00	\$0.00	-\$125.00	\$0.00
	DEDUCT FOR DAMAGE TO WETLANDS FENCING BY THE R (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	0	-\$10.00	\$0.00	-\$10.00	\$0.00	-\$10.00	\$0.00
	DEDUCT FOR DAMAGE TO A TREE MARKED FOR PRESERVATION, (AS Y THE OWNER), COMPLETE IN PLACE	EA	0	-\$100.00	\$0.00	-\$100.00	\$0.00	-\$100.00	\$0.00
MISCELLANEOUS I	TEMS SUBTOTAL:				\$0.00		\$0.00		\$0.00
BIDDING SUMMARY	<u> </u>								
SUBTOTAL REGION	IAL STORAGE ITEMS (SIENNA PARKS & LEVEE IMPROVEMENT DISTRIC				\$10,372,672.98		\$10,698,766.00		\$10,970,103.43
SUBTOTAL CLEARII	NG & GRUBBING ITEMS (SIENNA PARKS & LEVEE IMPROVEMENT DIST				\$1,467,017.22		\$1,402,255.00		\$1,220,415.36
SUBTOTAL MISCEL	LANEOUS ITEMS				\$0.00		\$0.00		\$0.00
TOTAL AMOUNT BASE BID					\$11,839,690.20		\$12,101,021.00		\$12,190,518.79

Page 4 of 4 FRN F-1386 LJA Engineering, Inc.